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AlZA (Convolutional Neural Networks)
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Padding

« 71=F Convolution= ofH O|0|X|7F A AFOFEICE,
« NXN O fXfEEHE HESIH?
e (N-f+1) X (N-f+1) =&!
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Valid Convolutiondt Same Convolution

» Valid: padding 20| 1'& ot= A.
- Same: =8 0|0[X|e| A 7|7} = O|O|X|2| A 7| HOIX[EE
paddingdt= convolution.
« N+2p-f+1 = N
* p=(f-1)/2
- O|Y XM O 2 f= =4, A20F paddingO| ZHLLHAO| £|11, HE{9 A
msojars ES ARY & ULt
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Stride

n X nimage f X f filter
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pEy =389 A7

« UH (nxnxn.)
e (height X width X channels)

 Channels {4l depth& M 7|k ofX|EF MZ YO

depthr UZZ QX[7} A0 channels& A&
« BH (F xfxn )2 EHE n /7l H&
« Parameter &= f X f X n, x n,'

« Stride s, Padding p
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Convolution vs Cross-Correlation

Convolution in math textbook:
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